€
¢)
®

4
iy
2)
3)
4)
5)
7)

8)

€y

)

3)

4)

H15

25

H17

I

16 17
30
5.25
16.7 /7 ( 30 x 20
80m/a
50me/a 80me/a
/a :N 0.2 P:0s 0.8 K0 0.8

6)

60 x
50 /a

10



43.8434

45 422 20 —181 184
T4 ,
g 14,
3% 35 _ 15
=
30 T 10
% - £
20 i 5
3 3 1 o1
0
= O
(H16) (H17)
652000 Ib
7.9
60 .14
55 NP, A g (100) o _
e A ~
0 F ¥ A~ . — % = 00 = . 9
s F T AN 10 | RN
\\‘ * ~ ~ . -
40 - o — 8r ~e (57)
35 - S 6 |
30 Ak
25 I . b
20
7/7  1/271  8/16  9/5  9/25 10/15 11/4 0
— - A — - —n ‘
(H17) (H17)
TOR TDR-251A 30cm
140 250 16
120 | |
100 4.3 mg/ 200 1
N gy - 72 102 ~N 150 '
114 51
60 100 L 4.1 mg/ .
4 | o |
20 | ’:‘
0 0 :
(H17) (H17)
10 x 10 x 15
1500 2500 427 50
1000 « 2000 | 4383:‘8 ‘ 40
= 500 1500 |- +1,590 1,283 30 °
g 1000 | 815 T~ 82— 20
= 0 - L IR | 665
= L - -
S 8/6 8/16 8/26 9/5 9/15 500 = 460 10
(=]
0 0
3 3 1
—_—— —
— K A - - —
(H17) (H16)




